
ldlt :yfg ;do

z+v/fk'/ O{nfsf g+= 1 2073÷10÷04 efUof]bo df=lj=, k'v'nf%L ljxfg 11=00

gfufh'{g O{nfsf g+= 11 / 12 2073÷10÷07 l;tfkfO{nf, xl/l;$L ljxfg 11=00

rGb|flu/L O{nfsf g+= 12, 13 / 14 2073÷10÷07 ;+o'Qm j*f sfof{no, jnDj' ljxfg 11=00

blIF)FsfnL O{nfsf g+= 15 2073÷10÷09 blIf)FsfnL g=kf= k|fé)f ljxfg 11=00

sLlt{k'/ O{nfsf g++= 13 / 15 2073÷10÷09 d+un df=lj=, sLlt{k'/ ljxfg 11=00

sf&df*F}+ dxfgu/kflnsf O{nfsf g+= 2,4,5,6,9,11,13,14 2073÷10÷10 sf=d=kf= ljxfg 11=00

tf/s]Zj/ O{nfsf g+= 10 / 11 2073÷10÷06
x]lNké x\of)*; c:ktfn kl/;/, 

wd{:ynL
ljxfg 11=00

^f]vf O{nfsf g+= 7, 8 / 9 2073÷10÷06 ^f]vf g=kf= sfof{no, k|fé)f ljxfg 11=00

O{nfsf g+= 2 / 3 2073÷10÷05
uf]s)f]{Zj/ g=kf= 12-16 j*f 

sfof{no, hf]/kf^L
ljxfg 11=00

j"(fgLns)& O{nfsf g+= 5 / 6 2073÷10÷05 uNkm'^f/ jf:s]̂  d}bfg, d+xfsfn ljxfg 11=00

lhNnf ljsf; ;ldltsf] sfof{no, sf7df8f}+

cf=j= @)&$÷)&% sf] of]hgf th'{dfsf nflu O{nfsf:t/Lo of]hgf th'{df uf]i7Lsf] ;+rfng tflnsf

gu/kflnsfsf] gfd gu/kflnsf cGtu{t kg]{ O{nfsfx?
uf]i&L x'g]

sfu]Zj/L dgx/f O{nfsf g+= 2, 3 / 4 2073÷10÷04 cf:yf kf^L{ Kofn];, *f+%L ljxfg 11=00

uf]s)f]{Zj/


